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3) Please mark the right responses ONLY with Blue/Black
ball point pen. / fsaur 33a Adt €739 3 A= JS/AS TS 5%
forTs Barg|

4) Candidates are not allowed to carry any papers, notes,
books, calculators, cellular phones, scanning devices,
pagers, blue-tooth devices, I-pads and any other electronic
devices to the Examination Hall. Any candidate found
using, or in possession of such unauthorized material,
indulging in copying or impersonation or adopting unfair
means, is liable to be summarily disqualified and may be
subjected to penal action./ SHte=at g it g feg It
I, &SH, YA, d8I8cd, HB®I 86, Hdfsd Sudds, Und,
98¢8 Guads, Met U3 »i3 Jet J9 fedacfed Buads femrge
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fan magfes Idtar nusSe Afgs mifadt nenfafgs miardt <t
293 Jae U Ae A rifadhut St fise 3 GHg 393 »ivdal Jag
fegr a7 Haer d w3 O & mar & fedt 7 AarEt 9

5) After finishing the examination, hand over the complete
question booklet and the OMR Answer Sheet. DO NOT
carry the question booklet or any part of it, outside the
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ity & mHuEt 3 wmre, ydt yas uRfsa w3 ©mmig 8739 Hie
251 Yus yrfsar At ferer gt & fomm Yiftmr € avg I a9 &7 &
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6) The test is of objective type. This Question Booklet
contains a total of 100 questions and the total time allotted
is 120 Minutes. / ftmm & Y39 safeasdt (vedtus gifen) Jl

for yis unf3ar f€g 100 yrs afis 96 w3 g8 AHt 120 fie 31

7) Each objective question is followed by four responses.
Your task is to choose the correct response and mark your
response on the OMR Answer Sheet and NOT on the

Question Booklet. / 339 gdfeasut (Hadtusg ITun) yms € 979
€39 Ta 393 aH At ©39 €t I adT W3 Eng Hie 3
myE 739 3 forrs sar@eT J &7 g yrus ynAf3ar 31

8) Candidate is required to attempt all questions. All
qguestions carry 1 mark each. There will be NEGATIVE
MARKING. 0.25 marks will be deducted for each wrong

Answer. /| §Hle=a B¢t A3 YHE JdaT Aadl JI 99 YHE 1 wid &7
I T TB3 §739 Tt 3difee Hafaar € 39 3 0.25 »ig Je AT=dll
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30C

On which river is the Sardar Sarovar Dam built?
A) Narmada

B) Tapi

C) Mahanadi

D) Krishna

When did Fascism a form of radical authoritarian
nationalism exists in Europe?

A) Early 20th-century

B) Early 19th-century

C) Early 18th-century

D) Early 17th-century

On the basis of area, on which rank Punjab falls

in India?

A) 14t

B) 17t

C) 19t

D) 10t

Before India — Pakistan partition which city was
capital of Punjab?

A) Islamabad

B) Rawlpindi

C) Patiala

D) Lahore

Which hormone helps the body to face the
emergency situations?

A) Adrenaline

B) Parathormone

C) Thyroxine

D) Testosterone

HJEd HI<d €6 faudt et ‘3 garfont fapr 372
A) sarer

B) snft

C) watseh

D) famar

elee - fesasdt 3wt gHege®E v e gy,
wau &g g Je &g mrfen?

A) 20 &- Fet @ nidg feg

B) 19 &- weft @ nids i

C) 18 &- reft € nidg g

D) 17 &- et @ wids f&g

¥39-e% & niiurg §°3, 9793 &9 Ung faal =g €3
mrger 37

A) 143

B) 172

C) 192

D) 102

393 - UfanzTs & geed 3 Ufast, fagsr afag Uams
<t gt H?

A) fersHE=

B) gresfist

C) ufenrsr

D) &9

fggzT grans JamHt Afedt &7 Ao 99 e At
=t Hee JgeT J?

A) Afgsfes

B) dgr@ais

C) afedafis

D) 2nemess
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10.

11.

With how many states of India does Punjab
share its border?

A) 3

B) 4

C)5

D) 6

Baba Sheikh Farid Aagman is celebrated at
A) Faridkot

B) Baba Farid Nagar

C) Amritsar

D) Ludhiana

When was the partition of Bengal done?
A) 1905

B) 1902

C) 1903

D) 1900

What is the holy- book of Sikh religion?
A) Bible

B) Ramayana

C) Kuran

D) Guru Granth Saheb

Baking powder is:

A) Sodium hydrogen carbonate

B) Sodium carbonate

C) Sodium citrate

D) Sodium hydrogen carbonate+ Citric acid

The most abundant metal on the earth crust is:

A) Copper
B) Aluminium
C) Iron

D) Zinc

10.

Urrg mryet HiHT &' 9793 € {98 yert 578 AisT gaer
J?

A) 3
B) 4
C) 5
D) 6

g9 7Y gdie maHs feen fa8 Hatfonr Afer 32
A) gdtede

B) g9 gdle &ar9

C) nifizrg

D) sftyrer

gars = €3 a< It H?

A) 1905

B) 1902

C) 1903

D) 1900

iy Tan <t ufesg yrsa faadt 37

A) Tfiegs

B) aHW=

C) 33

D) 913 & wricw

EICCIRVUSECIC LRSI

A) RS gretgHs Iragde J

B) RAgt gragde

C) A& Arfede

D) AghH oret3ws aragde+ fHefad mHs

. gadt <t yut 7 ©udt 3fa '3 A9 3 wifte utet A

B UTS:
A) 3=
B) w&HiahH

C) &ar
D) fam3
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12.

13.

14.

15.

16.

17.

What is the longitudinal meridian of Punjab?
A) 73°55' East to 76°50' East

B) 30°66’ East to 33°50’ East

C) 28955’ East to 31950’ East

D) 40°6’ East to 43°50’ East

When was Mahatma Gandhi born?

A) October 2, 1869

B) October 2, 1889

C) October 2, 1879

D) October 2, 1890

To convert AC into DC

A) Split ring commutator must be used
B) Slip rings and brushes must be used
C) Strong magnetic field has to be used

D) Rectangular wire loop has to be used

What are the color codes for a resistor of 120Q7?
A) Black, Brown, Red

B) Brown, Red, Brown

C) Black, Red, Orange

D) Black, Red, Brown

The Santokhsar Sarovar is situated at

A) Amritsar

B) Ludhiana

C) Patiala

D) Chandigarh

The first train journey of India was in 1852 from
Mumbai to which place?

A) Pune

B) Thane

C) Kalyan

D) Panvel

12.

13.

14.

15.

16.

17.

Urrg & JuTH Mg ot 37

A) 73°55' ygg 3 76°50' yad
B) 30066’ ygd 3 33050 ygd
C) 28955’ ygg 3 31950’ yad
D) 40966’ ug= 3 43950’ yas
HIT3HT it &7 d4&H g Ifem Hi?
A) 2 »a39d, 1869

B) 2 »a3gd, 1889

C) 2 mag=d, 1879

D) 2 »iazgg, 1890

gHt 3 St e e B

A) 48 HJ T8 88 € Qutiar izt Arer grdter J

B) Hf&U fda1 7 Agde <& €& w3 gart = Gutiar
3T A grdfter 3

C) H=g3 984t 439 & Gutiar i3 wrer Idfter J
D) wrfezrarg 319 U w Guuiar i3 A grdfter 9
120Q @ yaua = a1 33 oft 37

A) IBT, IIT, TS

B) g9, &3, 39"

C) I&, B3, &adft

D) 3T, 3%, g9

H3YNd Ho<d fag AfE3 J

A) »i3ma

B) s

C) ufenrsr

D) o

1852 feg 3793 €t ufgxt 3% w39 Hadt 3 & & faaz
HETS 3 o3t aret Hi?

A) yx

B) ==

C) afenrs

D) ysem
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18.

19.

20.

21.

22.

What is the reciprocal of the resistance of the
conductor is called?

A) Conductance

B) Internal resistance

C) Capacitance

D) Inductance

Froth-floatation process is used for the
concentration of:

A) Oxide ore

B) Sulphide ore

C) Carbonate ore

D) Nitrate ore

A 110V battery supplies power to a Bulb with a
resistance of 2200 ohms. How much current is
flowing through the bulb?

A) 50 Amps

B) 5 Amps

C) 0.5 Amps

D) 0.05 Amps

When was the unconditional surrender of
Germany signed, ending the European conflict of
World War 11?

A) May, 1945

B) May, 1951

C) May, 1950

D) May, 1947

Mansa district was formed on 13th April 1992
from the erstwhile district of

A) Bathinda

B) Amritsar

C) Ludhiana

D) Chandigarh

18.

19.

20.

21.

22.

I8d € Y330 € UgHUg HeT § off fagr Ater 37
A) IBI3T

B) »3faq yf3du

C) wfgzr

D) f&sadn

$91-396 &t Yfafom & Guuiar feret Huear ¢t ot
T 3

A) w3 gt T3

B) et Idt U3

C) Jgdde adt U3

D) srfege adt ur3

110V €t St ffq %9 & 2200 ohms 7 61 €
WIdU &% UTed HUSTE! Jddl JI 989 € »ied fdar

Fde y=rfa3 Jer 3?7

A) 50 Amps At Wum
B) 5 Amps #f »fun
C) 0.5 Amps #f Wium
D) 0.05 Amps 7t »iun

HAIHS & f9aT HI3 AHIUS ‘3 A3 d< o3 1S, fanr
7% g4 fere |y € gaut Hwan e w3 Ifenr?

A) wet, 1945

B) wet, 1951

C) weft, 1950

D) weft, 1947

13 »Us 1992 & HanT fus &t mamysT faa3 18 3
Jet Ht

A) sfssT

B) nififzra

C) sftmrar

D) sstaz
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30C

23.

24.

25.

26.

27.

28.

What are organelles?

A) Structures found in viruses

B) Structures found in organs

C) Structures found in bacteria

D) Structures found in Eukaryotic cells

In which of the following maidan the quit India
movement resolution was passed?

A) Shivaji park

B) Buddha Maidan

C) Gowalia Tank Maidan

D) Talkatora Stadium

Who is the Punjabi Poetess to get Jnanpith
Award?

A) Ms. Amrita Pritam

B) Dr. Dalip Kaur Tiwana

C) Ms. Sharmila Panday

D) Ms. Amrita Shergil

What is the total number of districts in Punjab?
A) 24

B) 22

C) 27

D) 30

The term 'rancidity' represents:

A) Acid rain

B) Oxidation of fatty food

C) Rotting of fruits

D) Fading of colored clothes in the sun
Which of the following festival is dedicated to
Baba Jassa Singh?

A) Kapurthala Heritage

B) Lohari

C) Hola Mohalla

D) Guru Purab

23.

24.

25.

26.

27.

28.

AfiaT wigr oft g€ T2

A) femreomt i urdt e @t Hawer

B) feedhi feg urdt wre =t Hagar

C) gaedinr fg ueh are <t Hagar

D) wafsGfea st fey urdh wre <l Hawe
forafagyz fe9 faus Hems &9 9793 83 Mess T H3T
utH Jfen Ht?

A) et ugq

B) guiEs

C) d=&@r 9 Hes

D) 3T&dcdT AeSMH

s Utg feasi YUz a9 @@t Unrdt afesdt de 97

A) It mifiE affsH

B) 3. €U &g feere

C) gudt mathe Uiz

D) @t niftr frafores

Urrg fE9 98 fd8 s 957?

A) 24

B) 22

C) 27

D) 30

wae 'JaMfsdt ear@er J:

A) MHZ Saur

B) gt waz A € wiraHldas
C) e g3 A

D) du g Jufant & dar fear U arer
3T 7T 92

A) Iyggs Jdted

B) &gt

C) I&" Hdm

D) 39 yae
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29.

30.

31.

32.

33.

Which of the following NH joins Kolkata to
Varanasi?

A) NH 2

B) NH 12

C) NH7

D) NH 4

Identify the two components of eco system.
A) Biotic and Abiotic

B) Super biotic and Anti biotic

C) Antibiotic and biotic

D) Great biotic and Abiotic

In which two Japanese cities were the first 2
atomic bombs dropped in 2nd World War?
A) Hiroshima and Nagasaki

B) Aichi and Akita

C) Chiba and Gifu

D) Miyagi and Nagano

COg; is detected by passing it through a solution
of lime water which turns:

A) Blue

B) Red

C) Green

D) Milky

Holla Mohalla is celebrated mostly in the month
of

A) March

B) June

C) September

D) January

290.

30.

31.

32.

33.

forafeyz f&d fagzsT wana (Iedt ITaHTad) JSaT3T
3 TIEH BT AFET I7?

A) wreng 2

B) #remg 12

C) weong 7

D) »awg 4

€t freH (ufgnegsd ygu) € € wea &t ugte 4|
A) Afeq w3 wiafea

B) wif3 Afea w3 yfs Afew

C) yfzafea m3 Afex

D) wot ffesr m3 niafed

o fere o fe9 7us € fag3 € nfgdt feg ufas 2
YHTE §9 He JIE HS?

A) S w3 sramATSht

B) wirfeft w3 mifesr

C) faar w3 farg

D) fipsraft w3 wramsd

gs € uet € Ws f&9 CO, 3w '3 for €7 dar g8
3 Ater

A) steT

B) &%

C) ggr

D) gdfnr

JS-HIS vH 39 3 faa3 vt &g watfenr ater 372

A) Mg
B) 95

C) w3&g
D) #&<dt

Page
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34.

35.

36.

37.

38.

39.

Which of the following kingdom that includes
single celled eukaryotic organisms?

A) Monera

B) Plantae

C) Fungi

D) Protista

When was The Indian Wildlife (Protection) Act
enacted in India?

A) 1972

B) 1973

C) 1976

D) 1982

What is the state animal of Punjab?

A) Tiger

B) Lion

C) Blackbuck

D) Elephant

Name the traditional dress worn by Punjabi
Women?

A) Saree

B) Lahnga-choli

C) Patiyala Suit

D) Burka

Bathinda of Punjab was built by

A) Jayapala

B) Prithvi Raj Chauhan

C) Bal Band

D) Bhati Rao

Which one of the following should be grouped
with whales, according to modern classification
A) Shark

B) Dolphin

C) Snake

D) Tortiose

34.

35.

36.

37.

38.

39.

yre 7 I&?

A) A&ar

B) umit

C) garet

D) gferer

3793 feg 793t T=+ie (Aahm) Wige I &g 3
faruT H?

A) 1972
B) 1973
C) 1976
D) 1982

Urrg w7 yert 76ed fagsr 37
A) =3

B) #d

C) g fags

D) ot

YAt »igast gergr utet #idt yduaa yata €7 &1 €R?

A) wt

B) sfdar-g&t

C) ufewmrst v

D) gaar

yarg =1 gfesT fan emrar rarfan fam Ht
A) TEUS

B) fys<t g 9o

C) ¥ g«

D) st o©

wufsd Tgdftaas € migH™, foHs fed fan o 28 o
Hetey i3 AT gdfter 9

A) o

B) 3sfes

C) wu

D) agnr
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30C

40. Area of Punjab that is between rivers of Beas 40. foum w3 ot Enit sEt B fegaras w3 It ©

and Chenab and on both sides of Ravi is called I urfkmit §°3 Uare € 939 ¢ off Jfde I
A) Majha A) T
B) Malwa B) W&
C) Doaba C) Enmar
D) Giddha D) forar
41. What does Horticulture mean? 41. gargrst = off migg J?
A) Growing of fruits & vegetables A) es w3 e QarGar
B) Primitive farming B) yits &t
C) Slash and Burn agriculture C) Aat & gt ga w3 W  On nEs 3
D) Growing silk worms e
D) ImH € I3 user
42. Who formed the Sikh Empire? 42. 94 ma fam & garfenn?
A) Guru Nanak A) J9 35
B) Guru Gobind Singh B) Trg difee fHw
C) Gulab Singh C) = iy
D) Ranijit Singh D) g3 fHw
43. Which of the following country was associated to ~ 43. farafeus €5 fagzr on ufs fere du e Sedt
Central Power in 1st world war? I3 &1 At Jfenr Hi?
A) Japan A) TS
B) Ottomon Empire B) 39d HHI™
C) United Kingdom C) gorfees faamnifges
D) China D) ¥1&
44. What is the local name of slash and burn 44. Hast &t geret add w3 78T F OF AETs '3 gdtart
agriculture in Himalayan belt? 95  forrfenis §39 {9 fam marsdt s & wrfenT
T J?
A) Milpa A) fre
B) Bringa B) f§ar
C) Bewar C) s=3
D) Khil D) fes
45. What is the Sl unit of magnetic dipole moment? 45. godft B-uge Hear <t Sl feardt ot 32
A) Ampere/meter2 A) mfhaies?
B) Ampere meter? B) »hftg Hiea?
C) Ampere C) »ubrg
D) Tesla D) cHsT

Page 9 of 20



30C

46.

47.

48.

49.

50.

What is the script of Punjabi language devised
by Sikh Guru Angad Sahibji?

A) Sanskrit

B) Devnagari

C) Gurumukhi

D) Urdu

Which of the following property of a proton can

change while it moves freely in a magnetic field?

A) Mass

B) Speed

C) Velocity

D) Energy

Two parallel wires carrying current of same
magnitude and in same direction attract each

other .why?
A) Because of electric force between them
B) Because of magnetic force between them

C) Because of potential difference between

them
D) Because of torque acting on each other
When did The Jallianwala Bagh massacre took
place in Amritsar, Punjab?
A) 11-Apr-1919
B) 12-Apr-1919
C) 13-Apr-1919
D) 14-Apr-1919
Which of the plant hormones causes division in
cells?
A) Cytokinin
B) Auxin
C) Gibberellin
D) Ethylene

46.

47.

48.

49.

50.

et gm &t fguft fagt 3, fagdt aig wiare mfae #ft
3 Gardt 37

A) FHfgS

B) T<&mardt

C) gt

D) €q%

U< enfdT 986t §39 e AS39 qU "9 uHe B €975
fors fe9 fags o ges Aaer 97

A) iz

B) art

C) <a

D) gam

HHTE Mg & dde M3 ANTS ferm it € AHTS3d
39t feq gd & Miaahs gaet a1 fag?

A) 35 € fegas fansdt madt < € a9s
B) €Ja' € fegarg 9udt Hadt d< € 996
C) €Jst ® fegad <t »f3d I< € d96
D) f&a g '3 98 fafonmfis3r I € 9%

ni3Hg, Unre fiEg afenies a1 & a38mH &
Jfen?

A) 11-7=-1919

B) 12-mU®-1919

C) 13-»Ums-1919

D) 14-7{s-1919

e 2 fagx Jons @ 9ds A s fegrfag ge a87?

A) weeafefas
B) wiafirs
C) frgasts
D) esfeis

Page
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51. Which one of the following can be used to test
the pH of a neutral solution?
A) Red litmus paper
B) Blue litmus paper
C) Phenolphthalein
D) Universal indicator
52. Punjab is bounded by the Indian states of
Jammu Kashmir to the
A) East
B) South
C) West
D) North
53. On which of the following dates was the Treaty
of Versailles signed?
A) 28-Jun-1919
B) 20-Jun-1919
C) 28-Jul-1919
D) 20-Jul-1919
54. Jharia in Jharkhand is famous for which of the
following minerals?
A) lIron
B) Coal
C) Tin
D) Lead
55. Who was the Prime Minister of England during
Quit India movement?
A) George Grenville
B) Winston Churchill
C) William Pitt
D) Henry Addington

51. Guis uls = pH/MT 1S U3 995 et fors feg

fom = Quutar Sft3T 7 FaeT 372
A) % fgeHn Uud

B) at®T feeHn Uug

C) dEweifss

D) waleans festaea

52. i amfig € 333t Yeut emrgr Unre & iy fan 5%

et 3
A) yg=
B) Ty
C) vaH
D) €39

53. forafeyz f&d fam Irdhy & <gnme &t At '3 gAs™g

CIEISR Y4

A) 28-75-1919
B) 20-75-1919
C) 28-7&ret-1919
D) 20-78Tet-1919

54. SIY3 T ST 939 feHafeys feT fagx ufen =t

yfHa 37
A) &
B) g
C) &=
D) fwr

55. I93 83 ness € das faEs v yurs H3dt d< Hi?

A) Frgq Jafed
B) feres vafas
C) fegmi fue

D) st wfsaes
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56.

57.

58.

59.

60.

At the time of short circuit, the current in the
circuit

A) Reduces substantially

B) Does not change

C) Increases heavily

D) Vary continuously

In which state is the Bhilai Steel plant situated?

A) Chhattisgarh

B) Bihar

C) Gujarat

D) West Bengal

When was the first jute mill set up in India?
A) 1905

B) 1901

C) 1867

D) 1855

In which year was Fascio di Combattimento
established?

A) 1925

B) 1919

C) 1917

D) 1922

Which of the following glands is known for
functioning as both endocrine and exocrine
gland?

A) Pitutory

B) Adrenal

C) Pancreas

D) Thyroid

56.

57.

58.

59.

60.

Hd< HIdd< J< <&, AJJC fed® Jdc

A) It we AeT g

B) sEser &t J

C) gg3 fmer =g AfeT J

D) Zar319 g€seT J

fgsret idts araurs faaz Y3 feg Afg3 372

A) gdtmar

B) faag

C) a3

D) U@t dares

3793 feg ufoet ge He e refuz st aret Hi?
A) 1905

B) 1901

C) 1867

D) 1855

THE f5 Fafere &t mavs fan g feg It Hi?

A) 1925
B) 1919
C) 1917
D) 1922

fors &9 faadt ot o M3grets M3 Mangrets JEt €

U S5 IH I35 Bt e AT 32

A) fugfiren
B) weftew
C) urga qret

D) grfogrets et
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61.

62.

63.

64.

65.

The temperature in polar region is -60°F and the
temperature in Sahara Desert is 52°F at a
particular period of time. What is the difference of
their temperatures?

A) -8°F

B) 112°F

C) -112°F

D) 102°F

The product of all integers from -134 to +135, ends

not included, is closest to which number?

A) -321

B) 321

C) 72

D) O

Find the sum (3.454545 + 2.515151 + 1.060606) =7
A) 8.020202

B) 7.919191

C) 7.030302

D) 7.121212

The average salary per head of all the workers of
an organization is Rs.450. The average salary of
12 workers is Rs.1, 500. The average salary per
head of the rest is Rs.400. Find the total number of
workers in the organization.

A) 200

B) 250

C) 300

D) 264

If a person travels two equal distances at 20kmph

and 30kmph respectively, what is his average speed?

61.

62.

63.

64.

65.

fam fefiae 7 '3 gg<t 8339 € 3UN™S -60°F w3 HaTaT
IfamzTs = IUHTES 52°F 3| feaa € IunTs fEg faar
L ECK

A) -8°F

B) 112°F

C) -112°F

D) 102°F

-134 3 +135 39 &t Ardnit yds Aitmiet €7 Jieaes
fom "iim € fasgean J=ar, fan fee ufgst w3 »ifaw
At il st 372

A) -321

B) 32

C) 72

D) 0

T3 U3 99 (3.454545 + 2.515151 + 1.060606) = ?
A) 8.020202

B) 7.919191

C) 7.030302

D) 7.121212

fa HHET € Ad JoHaIMT € A3 334 450 3. Y3t
fenmadt 31 12 saHardvt €t »ins 3a9™a 1, 500 g. J1

greft FgHTTIMT & A3 35T 400 9. yIt femadt A
Uz 99 g AAET fie9 98 fas FaHardt Il

A) 200

B) 250

C) 300

D) 264

Agg Jet fomadt @ A gdtt &t wr3ar gH wigH
20 fa.Ht y3t wier w3 30 fa.Ht Y=t wer = ot o 3w
Jger J, 3t Gret vins ot foat 37

A) 24 A) 24

B) 25 B) 25

C) 22 C) 22

D) 23 D) 23
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66.

67.

68.

69.

70.

If the ratio of a to b and the ratio of x to y are both
equal to 1/5, find the ratio of (a + x) to (b + y)

A) 4/5

B) 1/10

C) 1/4

D) 1/5

A man sells two bikes for Rs.30, 000 each, neither
losing nor gaining in the deal. If he sold one bike at
a gain of 25%, the other is sold at what percent of
loss?

A) 15%

B) 25%

C) 16 2/3%

D) 26 2/3%

2y862 is a five digit numeral divisible by 9. Which
of the following numbers can replace y?

A) 6

B) 0

C) 1

D) 7

A man spends 88% of his income and saves
Rs.6, 000. What is his income (in Rs.)?

A) Rs.20, 000

B) Rs.60, 000

C) Rs.50, 000

D) Rs.25, 000

Two right circular cylinders of equal volume have
their radii in the ratio 2:3, what is the ratio of their
heights?

A) 94

B) 1:9

C) 3:1

D) 1:3

. Adda3bEMEUS M3 X3y T maU3 €< 1/5¢

g9™9d J&, 31 (a + X) 3 (b + y) € MEU3 U3T I3|
A) 4/5
B) 1/10
C) 1/4
D) 1/5

. foa foradt as 2 Hea Ardtast I M3 637 &7 319 w3 &7

T& @ #E &% 739 3 30, 000 7. ¥ 29w I 799 673
% ieg At & 25% &9 '3 2fen, 3 € T O
ol fiea AEtes B fs yHS ot '3 e

A) 15%

B) 25%

C) 16 2/3%

D) 26 2/3%

. 2y862 fEF st it Fikr 3 3 ¥ O 55 Sgta I s

PF gt koo y &7 HETS B Fareht 37
A) 6
B) 0
C) 1
D) 7

. foq femadt miust nitHes @7 88% fIAT yag IdeT I M3

6, 000 3. <t 993 gger JI Endt mmies (3. f9) faat
3?

A) 20, 000 g.

B) 60, 000 3.

C) 50, 0003.

D) 25, 000 3.

. FHS WSE® &% ¢ AH disad s sdt € widy fommt

T MEUT3 2:3 J, Gt Tt Garehut B nigu3 faer
J=ar?
A) 9:4
B) 1:9
C) 31
D) 1:3
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71.

72.

73.

74.

75.

Choose the antonym of the question word:

Prove

A) Improve
B) Unprove
C) Disprove
D) Misprove
Find the synonym of the question word:

Gentle

A) Soft

B) Violent

C) Cowardly

D) Rash

Fill in the blanks with correct option:
We have to keep bad people

A) at an equal rate

B) blaze a trail

C) at arm's length

D) at any rate

Fill in the blanks with correct option:
Can you turn off
A) the

B) a

C) an

D) no article

light please?

Identify the plural form of the given word:

Lioness

A) Lionex
B) Lionesses
C) Lionessos

D) Lionessus

76.

77.

78.

79.

80.

Fill in the blanks with correct option:
The car broke down while we to
Mysore.

A) have been going

B) has gone

C) were on the way

D) are going

Fill in the blanks with correct option:
Whenever she was in the company of her friends
she behaved as if she me.

A) didn't know

B) doesn't know

C) hadn't known

D) won't be knowing

Identify the plural form of the given word:
Breakfast

A) Breakfastes

B) Breakfastess

C) Breakfasts

D) Breakfastss

Fill in the blanks with correct option:

I like ___ volleyball. Itis ___ interesting game.
A) no article, an

B) a, the

C) the, the

D) a, an

Fill in the blanks with correct option:

You board a moving bus, it is
dangerous and forbidden.

A) might not

B) must not

C) may not

D) will not
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81. Identify the plural form of the given word: 86. femfHx . _
A) T T 2dt BT TS|
B) ¥ ¥ fug »m@% J&|
A) Brother-in-laws C) Tx ¥ f&g mr8T I
B) Brothers-ins-laws D) &Et & ofx &Jt|

C) Brothers-in-law

Brother-in-law

D) Brothers-in-laws
82. Fill in the blanks with correct option: 87. urt ot €t fagst Berads I7
A) T3t T &te

You shoul ti til i
ou should practice until you B) 3@ UK &'

perfection. C) @H3 =
A) gained D) for =9x
B) will be gaining
C) gain
D) should gain
83. Fill in the blanks with correct option: 88. frgs mEe Hiet 7 TSt ¥ g9, fEas
In th fins r ution. it . et ©I=3 A< I5 Q-
n this age of information revolution, it is easy to A) q i e
the latest developments. B) 3@ TUX &iT J Jol|
A) see eye to eye on C) fEas = s J< Ia|

B) keep abreast of D) fo7 o= &'< e Iz

C) abide by
D) be hand in hand with
84. Fill in the blanks with correct option: 89. fAoF FEe AITST Tt JT »iE TR T
The aarbage (ruck o T § A%6 T i €t 596 89
© garbage ruek __________reguiarly. A) 8O T9x AdSs’T Ia|
A) didn't came B) ferA=gxX AgI<sT Io|

, D) yHs f9X AJ<o< Jo |
C) doesn't comes

D) didn't comes

85. Fill in the blanks with correct option: 90. /”17:3 &%= _
A) MIF Baret T

Unless he invites you, you go. B) o FarT 1

A) need not C) fAgST saret I
B) should D) faardt saret I
C) may

D) must
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92.

93.

94.

95.

96.

97.

= x €9 yos Busx, »idls Busx
= AHS Quew = 89-

A) AOIs X JeF J|

B) AUX3 X Jger J|

C) fHAaz ='x J=r J|

D) IIS®»eg X JdeF J|

HO HJ=JT g&-
A) J° 2@°&
B) Jg nize
C) J' &8&
D) Jg HwET

fxazt Gerags T2
A) SO T9x
B) f&m =ox
C) formg o
D) U TOX

98.

99.

100.

fafanr = o gu 3 usT 98 fa I M@=
T - o9 fam A9z 3 529 89-

A) AIST 3fed I T

B) uds 3fey & J|

C) T% ey I J|

D) niferfos 3fey o I

Ufars =9 ferrs fds yag © I5°2
A) 2
B) 3
C) 4
D) 5

"oy H It T »igyg JI-
A) YIS HIt et

B) femar g

C) ITaiz J&r

D) fimig O A&
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Space for Rough Work:
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Space for Rough Work:
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9) Completely darken the CIRCLE so that the alphabet inside the
CIRCLE is not visible. Darken ONLY ONE CIRCLE for each
answer as shown in the example below. The CORRECT and the
WRONG method of darkening the CIRCLE on the OMR sheet are

given below. / difent & ydt 337 I® I3 3ffa I € »ieg f&3
TISHBT & miyd & feye| Jat Beads 99 foue I »igag g
€39 Bt d=s q 318 & & 94| §Ta Hie 3 318 3 IHT dIs

=1 At w3 I%3 Idtar Jat fE3T famr Ji

Correct Method Wrong Method

At 3dtar %3 Idtar
==l W= D O &

56 D8

10) In view of the tight time span, do not waste your time on a
question which you find to be difficult. Go on solving questions one

by one and come back to the difficult questions at the end. / #H €7
fimis Jue I, MRS YyAs 3 MU AHT sHe &7 a9 | fea-fea
t df 931

11) DO NOT make any stray marks anywhere on the OMR
Answer Sheet. DO NOT fold or wrinkle the OMR Answer Sheet.
Rough work MUST NOT be done on the answer sheet. Use your

test booklet for this purpose./ &g Hie 3 fa3 <t It Syar
fors & BarQ| ©ma Hie & & HE 7 & Jt fow 3 22 UG 3¢

7t T JH §39 Hie '3 famas & ad| fon aH B vyt i
yAfser &t ft =93 3|

12) Questions are in both English and Punjabi. If any
confusion arises in the Punjabi version, please refer to the
English version_of the question. /W w3 ywret It
It f&9 951 Agg UnTHt ARage f&u adt uamat 3, 3t faour
I3 YHE € g+ AHIdS € Heds & Aae 3

13) OMR Answer Sheets will be processed by electronic
means. Invalidation of the OMR Answer Sheet due to its
folding/ wrinkling or putting of stray marks on it or due to
any other damage to it as well as incomplete/ incorrect
filling of the Answer Sheet or overwriting on the oval or use
of whitener, will be the sole responsibility of the candidate. /
Smmrg §33 Hiet 3 fessagisa fedt enmar Afg it At fere
W3/ ¢ uge 7t Jet Sud fors s #f fAd fa @39 die &
WyI/a%3 391 378 FI&T AT A G UT feye AT HeE das T U
dt 293 &8 feHg ¥ae J95 98 AHng 839 Hie € nyHfes
Jd< 3wt ffierdt Gvteerg <t d=aft
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